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Please show work on all questions for full credlt & partial credit. (20 total pts) ‘confidence booster”

Zoq/—/—éz)

1. ( OO centimeter equals one meter or one ¢cm = ’ O meters (6 pt, 3 pts each)

2. Significant Figures: (4 pts)

a. How many significant figures is in the following numbers ?

Feh 515 LR A

@23 0 0 a pt) )

b. significant figures in calculation (3 pts)

(87.91 * 7.0001) % 2.10=293.0375195 (calculator number)
A B C

;(LA T 5 b c

Give the number of mgmf cant figures for each number in the calculation
'-;_(1/2 pt each blank)

Give the final answer with significant figures rounding up as necessary. 2 q/; (1 5 pts)

Convert from 1.78 pounds to milligrams. (433 6 g=1 pound, 1000 mg =1 gram) (10 pts) Show work.
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Extra Credit Question  Convert 75.2 °F 10 °C [T (Celsius) = {T(Fahrenheit) — 32}* (5/9) ] Show work. (4 pts)

Tt = 2'7 5.0°F “%L}K /9 = Lh 0 C
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Please show work on all questlons for full credit & partial credit. (20 total pts) “confidence booster”

o (075

1. ( OOO ‘milligrams = 1 gram. or onemg= Z oov grams (6 pt, 3 pts each)

Sh = DAl

\{,f,‘* ) L
2. Significant Figures: (4 pts)
a. How many significant figures is in the following numbers ?
72380.00000 / 0 (py
b.  significant figures in calculation (3 pts)

98.790 - 20.1 + 1.0001 = 79.6981 (calculator number)
A B C

Qj_A bh B 5 ¢
‘\Gwe the number of significant figures each number in the calculation ~ ——
' ,_(1/2 pt each blank) (s h =40

o] &
Give the final answer with significant figures rounding up as necessary. r)(,; ? (1.5 pts) (show
work) S

3, Convert from 1.78 pints to kiloliters (2 pmts =1 quart, 1 Liter = 1.06 quarts, 1000 liter = l kllohter ) (10 pts)

Show work. ey
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Extra Credit Question Convert from 992 ° C to °F, [T ( Fahrenheit ) = = {T (Celsius) * (9/5)} + 32]

e ( F) E(OIC? LC)#@’) +£52= 200,50 °F
Ao U 21p
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Please show work on all questions for full credit & partial credit. (20 total pts) “confidence booster”

I centimeter equals one meter or one cm = meters (6 pt, 3 pts each)

25 Significant Figures: (4 pts)

a. How many significant figures is in the following numbers ?
0.0072380 (1 pt)
b. significant figures in calculation (3 pts)

(87.91 * 7.0001) % 2 .10 =293.0375195 (calculator number)

A B C
A B @ .
Give the number of significant figures for each number in the calculation
(1/2 pt each blank)
Give the final answer with significant figures rounding up as necessary. (1.5 pts)
3¢ Convert from 1.78 pounds to milligrams. (453.6 g =1 pound, 1000 mg = 1 gram) (10 pts) Show work.

Extra Credit Question Convert 75.2 °F to °C [T (Celsius) = {T(Fahrenheit) — 32} * (5/9) | Show work. (4 pts)




Gen Chem I (CHIM 201) Fall 18 Dr. Hahn  MWF 8 am Quiz I form B 8/27M Exam #

Name Name
Sign Print

Please show work on all questions for full credit & partial credit. (20 total pts) “confidence booster”

I. milligrams =1 gram. or onemg= grams (6 pt, 3 pts each)
2. Significant Figures: (4 pts)

a. How many significant figures is in the following numbers ?

72380.00000 (1 pt)

b. significant figures in calculation (3 pts)

98.790 - 20.1 - 1.0001 = 796981 (calculator number)

A B C

Q A B C

Give the number of significant figures each number in the calculation

(1/2 pt each blank)

Give the final answer with significant figures rounding up as necessary. (1.5 pts) (show
work)

3. Convert from 1.78 pints to kiloliters (2 pints = 1 quart, 1 Liter = 1.06 quarts, 1000 liter = 1 kiloliter } (10 pts)

Show work.

Extra Credit Question Convert from 99.2° Cto °F. [ T ( Fahrenheit )= {T (Celsius) * (9/5)} + 32]
(4 pts)



